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dy

dx
= y − 2qxy3 .iaeig reaw `ed q xy`k

x lkl x
ben df oexzt m`d .y(0) = −1 dlgzdd i`pz z` miiwnd oexztd z` `vn?lim
x→∞ y(x) `edn ,ok m` ? iynnd`eeynl .2

y′′ + 4y = 2 tanx ihxt oexzt yi
y(x) = −x cos 2x + ln | cosx| · sin 2xly oexztd z` `vne ,min
wn ziiv`ixee zhiy i
i lr df oexzt mi`ven ji` d`xddlgzdd ii`pz z` miiwnd d`eeynd

y(0) = A , y′(0) = B.mipezp mireaw md A, B xy`kd`eeynd ly illkd oexztd z` `vn (`) .3
y′′ − 2y′ + (1 + p2)y = ex + e−x.iaeig reaw `ed p xy`kdlgzdd ii`pz z` miiwnd (`) sirqa d`eeynd ly ihxtd oexztd z` `vn (a)

y(0) = y′(0) = 0z` xezt ,zxg` e` ,(a) sirql daeyzd ly 0 -l s`ey p xy`k leabd aeyig i
i lr (b)dirad
y′′ − 2y′ + y = ex + e−x , y(0) = y′(0) = 0



d`eeynl oexzt miiwy jk b e`/e a lr i`pz `vn ,mireaw md a, b m` (`) .4
y′(t) + ay(t) = tb. mireaw c1, c2 mr y(t) = c1t + c2 dxevajk v e`/e M lr i`pz `vn ,reaw xehwee `ed v -e dreaw dvixhn `id M m` (a)zkxrnl oexzt miiwy

y
′(t) + My(t) = tv.mireaw mixehwee c1, c2 mr y(t) = c1t + c2 dxevazkxrnd ly illkd oexztd z` `vn (b)
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x2(2 − x)y′′ + x(1 + x)y′ − 3y = 0( .x = 0 d
ewpl aiaqn zewfg ixehk zepexztd z` `evnl yi)

f ′′(t) ly , f ′(t) ly qltld zexnzd odn ,F (s) `id f(t) ly qltld zxnzd m` (`) .6(.oze` hhvl wx ,ze`vezd z` gikedl jxev oi`) ? tf ′′(t) lyezil`ivpxti
d d`eeynd z` zxzet f(t) divwpetd m` (a)
tf ′′(t) + f ′(t) + tf(t) = 0d`eeynd z` zxzet , F (s) ,dzxnzdy gked

(1 + s2)F ′ + sF = 0d`vi F -l d`eeyndy xiaq df m`d .m
ewd sirqdn F -l d`eeynd z` xezt (b)? ipy x
qn `id f -l d`eeyndy zexnl ,oey`x x
qn zeidl!dglvda


